

1a

1b)  $y = 4/x^3 \Rightarrow y = 4x^{-3}$

$$y + dy = \frac{4}{(x+dx)^3}$$

$$\Delta y = \frac{4}{(x+dx)^3} - \frac{4}{x^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{4x^3 - 4(x+dx)^3}{dx \cdot x^3(x+dx)^3} = \frac{4x^3 - 4(x^3 + 3x^2dx + 3x dx^2 + dx^3)}{x^6 dx + 3x^5 dx^2 + 3x^4 dx^3 + x^3 dx^4}$$

$$= \frac{-12x^2 dx - 12x dx^2 - 12 dx^3}{x^6 dx + 3x^5 dx^2 + 3x^4 dx^3 + x^3 dx^4} = \frac{-12x^2 - 12x dx - 12 dx^2}{x^6 + 3x^5 dx + 3x^4 dx^2 + x^3 dx^3}$$

$$\lim_{dx \rightarrow 0} \frac{-12x^2 - 12x dx - 12 dx^2}{x^6 + 3x^5 dx + 3x^4 dx^2 + x^3 dx^3} = \frac{-12x^2}{x^6} = -12x^{-4}$$

2a)  $\int \frac{dx}{(x^2+36)}$

let  $x = 6 \tan \theta$ ,  $x^2 = 6^2 \tan^2 \theta$ ,  $\theta = \tan^{-1}(x/6)$

$$\frac{dx}{d\theta} = 6 \sec^2 \theta, \quad dx = 6 \sec^2 \theta \cdot d\theta$$

$$\therefore \int \frac{6 \sec^2 \theta \cdot d\theta}{(6^2 \tan^2 \theta + 6^2)} = \int \frac{6 \sec^2 \theta \cdot d\theta}{6^2 (\tan^2 \theta + 1)}$$

$$\tan^2 \theta + 1 = \sec^2 \theta$$

$$\therefore \int \frac{6 \sec^2 \theta \cdot d\theta}{36 \sec^2 \theta} = \frac{6}{36} \theta + C = \frac{1}{6} [\tan^{-1}(x/6)] + C_0$$

1b)  $\int \frac{dx}{(x^2+13)} = \int \frac{dx}{(x+\sqrt{13})(x-\sqrt{13})} = \int \frac{A}{(x+\sqrt{13})} + \int \frac{B}{(x-\sqrt{13})}$

$$\therefore 1 = A(x-\sqrt{13}) + B(x+\sqrt{13})$$

let  $x = -\sqrt{13}$

$$1 = A(-2\sqrt{13})$$

$$A = \frac{1}{-2\sqrt{13}}$$

let  $x = \sqrt{13}$

$$1 = B(2\sqrt{13})$$

$$B = \frac{1}{2\sqrt{13}}$$

$$\therefore \int \frac{dx}{(x^2+13)} = \int \frac{1}{2\sqrt{13}(x+\sqrt{13})} + \int \frac{1}{2\sqrt{13}(x-\sqrt{13})}$$
$$= -\frac{1}{2\sqrt{13}} \ln|x+\sqrt{13}| + \frac{1}{2\sqrt{13}} \ln|x-\sqrt{13}| + C_0$$